I' AYKEIOY MEPOX A

145 1)
1. f(x)—f(l)%)fzﬁ_ Hi3-2 . (»x+3-2)(Vx+3+2)
f'(1)|=lim = lim————==lim -
S X1 Ao T () a+2)
_lim 3 4 —lim x=1 ___1 :
o (x=1)(Vx+3+2) ot (x~Tf (Vx+3+2) V1+3+2 |4
145 2)
f(x)=3x—2
f’(6) =||mw ( )7: ||m—‘3X_2_4=
x—6 X—6 x—6 X—6

(\/3X—2—4)(\/3x—2+4)_“m Ner
o (x—6)(«/€ﬁ+4) _H"’(X—G)(M+4)

318 3(x~6) 3 3

=lim =lim —

% (x—6)(V3x—2+4) > (x~6) (V3x-2 +4):J3-6—2 +4 |8
145 3)
F(2)| = tim =) X 3x6-2
X—-2 X+2 X—-2 X+ 2

\/x2+3x+6—2) X2 +3X+6+2 2 2 2
( ( ):Iim x/x +3Xx+6 -2 _

X2 (x+2)(M+ 2) e (x+2)(M+ 2)

) x> +3x+6-4 ) X% +3X+2
= lim = lim =

2 (x+ 2)(\/x2 +3X+6+ 2) 2 (x+ 2)(\/x2 +3X+6+ 2)
X2 +3x+2=(x+1)(x+2) (X + 1) M 241 1

lim -

X2 M(M+ 2) - \/(—2)2 +3(—2)+6 +2 L4
145 4)

f(~1+h)=y((~1+h)*-3(~1+h)

(e L) —F (D)=
f'(-1)=lim : =

_ J1-2h+h?2+3-3h-2 .. Jh*—5h+4-2
=lim =lim =

h—0 h h—0 h

Jhishia 22 L hoshed A

=lim

P n(JFsh+a+2] "oh(Jish+4-+2]

_tim K (h-5) 0-5 5

SR (VW —shed+2) 0504442 4




